M"“T“"’

o/
. ‘;-,.— = \" ff . % . - X, %V\
Mot O ) ;’/ [orop: Sy L Bropl™ /
. ~ | \ Y 3 1Y /

f
I

Time: 2% Hours

Note: 1) All question; carry equal marks and are compulsory.
2) Figures to the right indicate maximum marks for a questio

QL. (4 Attempt any two sub-questions from (a)

(a)  Today () function is to get the current sy: em"
(b)  We cannot rename a worksheet in a workb: »
{c)  Sorting can be done only in the asi

(B) Attempt any two sub-questions frc (£) ir M 2)
(Multiple Choice) '

(d) Tomake the changes in

1) Alter Table .2

(e) Tosave the transacti '

1) Commit

3) Select

(6)

. (5)
thIlS Networking and Internet (Multlple Ch01ce)

is not ndamental characteristics of data communication.

A [ > 2) delivery 3) Message 4) Accuracy
{a) Th basee‘\\hexademmal system is -------------- '
L 2)4 3)8 4)16

LED s sed a source of light in ---------- transmission media.

1).Tw1sted pair 2) co-axial cable 3)microwave 4) optical fibre
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(s)  Itiseasy toadd or remove nodes in ---------------
1) Bus 2)Ring

() e is not a protocol.
1) TCP 2)IP 3) FTP 4) 0SI
(u)  Ahyperlink can appear as --------------
1) Textonly 2)imageonly 3)bot
(v)  SMTP stands for ------z--s--zo- :
1)Single Mail Transfer Protocol <.
3) Simple Mail Transfer Protoc
Web site is a collection of --

Q2. (A) (8)
(B) (7)
Q. (8)
, should not be empty), Gender (GEN,
") and Date of joining ( DOJ, date).
table called HOTEL having the columns
cter with variable width 20 columns, primary
Q)

Explain th fol wing built-in functions in MySQL.
1()¢ 2)LTRIM() 3) MID() 4) TIME()

6) MONTHNAME() 7) ABS()
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(d)

Q. A
(@)

Q4.

(RNO, integer), Students Name (SNAME, character width [
having 6 integers and 2 decimal places) and Date of. Adm Smn(DA,

Write MySQL statements for the following. .
i) Display the structure of the table COLLE
ii) Add a new column Conformation (CO;
111) Increase the fees of all students by5

v) Change the size of the column FéES 0 inte

v1) Rename the column DA to D@B“ :

®
UMBER »v(BNO\ lnteger
' i'(Pfl‘JRDT date).
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(d)  There exists a table N CAR co
character), Model of the car (MAKE, character), Date of Put
Value of the car (Value, humeric).
Write MySQL queries for the following. <
1) Display all the rows from this table where
i) Display all the rows from this table
iii) Display the Model of the car labeled
labeled as ‘Price of the Car’ fro !

m this

abl

vi) Display all the rows: f}éfﬁ‘ftﬁis-*tabié*,iﬁ th dés"c'”e

vii) Display all the ro

()

Ws |

ntaining columns:\ﬂ:Regis,t‘ tion:

| E

SALARY

45000

20000
25000

20000

50000

35000

D

| COUMPOUND
INTEREST

! DIFFERENCE

l

l

i
q

e Write thé steps in MS-EXCEL o obtain

——

“

SIMPLE INTEREST in column B where simple interest= P*N*R/100
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Q.P.Code: 09302 =

5

ii) COMPOUND INTEREST in column C where compound interest
=P*(1+R/100) ~N - P. Where P is AMOUNT Ris RATE and N.is YEARS.

iii)  DIFFERENCE = COMPOUND INTEREST - SIMPLE INTEREST in column. - &)
D.

Q5. (B) Answer any one sub-question from (c),(d)mMS-EXCEL viy A 67

(¢)  Consider the following worksheet showmg the Salesof ‘5‘ persons S

NAME SALES COMMISSION. | DISCOUNT | NET | TAX | -
ASIF 45000 RS S P I R S AT A

REHANA | 60000 . |
SALMAN | 25000 -]
ANWAR | 70000 o
AAMIR 20000 d

NN (B WIN |-

Write steps to fmd for all the salesmen AR : " 57

(i) Commission as 6% of the Sales or'5000 whlchever is more in column C.
(ii) Discountas 12% of the Sales or 4000 whichever.is less in column D.
(iii) Net as Sales- Commlssmn Discount in column ES
(1V) Tax: as 10% of Net in column E: ' ;

(d Explam the followmg bullt in functlons in MS EXCEL
LIPMIE) S o' S 2 INT() 3, RATE() T 4.MAX()
5.FLOOR() 6 NPER() _\7 ROUND() '
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